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Question Number : 1 Question Id : 50521224333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A child learns to run and hop before she can skip. Which principle of development does this illustrate?

Options :

1. All domains of development are inter-related.

2. Development follows a predictable pattern.

3. Development is discontinuous in nature.

4. Development is influenced by both maturation and experience.

Question Number : 1 Question Id : 50521224333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 50521224334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Growth and development of children consists of-

Options :

1. quantitative changes.

2. qualitative changes.

3. both quantitative and qualitative changes.

4. only physical changes in body size and structure.

Question Number : 2 Question Id : 50521224334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 50521224335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

refers to the complex forces of the physical and social world that influence a child's experience during the course of her
development.

Options :

1. Nature

2. Heredity

3. Nurture

4. Chromosomes

Question Number : 3 Question Id : 50521224335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 50521224336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following are primary socializing agencies for children?

Options :

1. School and neighbourhood

2. Family and media

3. Neighbourhood and teachers

4. Family and neighbourhood

Question Number : 4 Question Id : 50521224336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 50521224337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Kamal reasons that he will give a crayon to Tanu if she also gives her one so that it is an equal exchange of favours. At which stage of
Lawhrence Kohlberg's moral development is Kamal at?

Options :

1. Instrumental purpose orientation

2. Good boy-nice girl orientation

3. Social-order maintaining orientation
4. Social-contract orientation

Question Number : 5 Question Id : 50521224337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 50521224338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In which stage of cognitive development do children begin to build on each others' play ideas; strengthen the understanding that symbols
represent objects; but lack conservation skills?

Options :

1. Sensory motor

2. Formal operational
3. Pre operational

4. Concrete operational

Question Number : 6 Question Id : 50521224338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 50521224339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A 6 year old child reasons that a taller glass has more water than a shorter and wider container even though the liquid has been poured
from the container to the glass in front of her eyes. According to Jean Piaget this kind of reasoning by the child is due to the child's
reasoning by the child is due to the child's inability to-

Options :

1. seriate.

2. perform heirarchial classification.
3. decenter.

4. apply prepositional logic.

Question Number : 7 Question Id : 50521224339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 50521224340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Child: T am not able to fix this part of the puzzle.

Teacher: Which piece should come here as these are the legs of the cat?
Child: The paws?

Teacher: Good! Which piece like a paw?

Child: This one.

Which feature of social interaction is being highlighted in the above interaction?
Options :

1. Observational learning

2. Expository learning

3. Scaffolding

4. Cognitive conflict

Question Number : 8 Question Id : 50521224340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 50521224341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Lev Vygotsky's theory of cognitive development is situated in the-

Options :

1. socio-cultural perspective.

2. psycho-sexual perspective.

3. behaviouristic perspective.

4. historical perspective.



Question Number : 9 Question Id : 50521224341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 50521224342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In a constructivist classroom based on Piagetian principles children learn-

Options :

1. by imitating adults.

2. through explanation given by adults.

3. by striving for rewards.

4. through self-initiated activity.

Question Number : 10 Question Id : 50521224342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 50521224343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In Howard gardener’s theory of Multiple Intelligence, if a person has a skill of understanding the motives feelings and behaviours of other
people, she is said to have-

Options :

1. Intrapersonal Intelligence.
2. Experiential Intelligence
3. Social Intelligence

4. Interpersonal Intelligence

Question Number : 11 Question Id : 50521224343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 50521224344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Teachers should not restrict themselves to examples which depict women as nurses and teachers and men as doctors and pilot as this leads
to-

Options :

1. gender empowerment.

2. gender stereotyping.

3. gender stereotype-flexibility.
4. gender constancy.

Question Number : 12 Question Id : 50521224344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 50521224345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Assertion (A): A print rich environment in a primary classroom is essential for language development of children.

Reason (R): Emotions play an important role in learning.

Choose the correct option.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.



Question Number : 13 Question Id : 50521224345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 14 Question Id : 50521224346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Harjot gets very upset when she does not receive a 'star' on her assignment. She gets defensive at any critical remarks on her work. Which
of the following feedback approach would be most effective in this case?

Options :

1. Giving her lots of constructive feedback and allowing her to revise her work.

2. Making sure that she gets a 'star’ on every assignment, to not make her upset.

3. Making sure that she does not get a 'star' or any other reward on any assignment so that she becomes used to it.
4. Not giving her any kind of feedback.

Question Number : 14 Question Id : 50521224346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 50521224347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a feature of portfolio?

Options :

1. Portfolios collect work samples over time, reflecting development changes.

2. Portfolios involve students in design, collection and evaluation.



3. Portfolios promote self regulation by involving students in the assessment of their own learning progress.
4. Portfolios comprise of disconnected tests and quizzes and help in ascertaining the product of learning.

Question Number : 15 Question Id : 50521224347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 50521224348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
To accomplish the goal including children with special needs in a regular classroom the teacher should-

(i) identify individual children's strengths, interests and needs.
(ii) disregard individual differences and ensure uniformity.
(iii) adopt assessment strategies to facilitate learning.

(iv) prepare individualized education plans.
Options :
1. (ii), (iv)
2. (i), (iii)
3.(1), (iii), (iv)
4. (i), (ib), (iid), (iv)
Question Number : 16 Question Id : 50521224348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 50521224349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Sensitivity to light, sound, touch, and other sensory information; impaired verbal and non-verbal communication, over-dependency on
routines and avoidance of eye contact with others are primary characteristics of children dealing with-

Options :

1. hearing impairment.

2. intellectual disability.

3. autism spectrum disorder.
4. visual impairment.

Question Number : 17 Question Id : 50521224349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TIERTET, SA, T SR A7 T SIHRT 3 T1q AT Gaa-Isiierar, H=or ¥ 9Tieash &iorar 377 A9iess 2T,
TRl UT 3771 STRaT ohi AT (e ST Gt | o =T T3 e o TTaTeres wreqor 27

Options :

| SFET ST

, ST e
, T W

, TTE ST

Question Number : 18 Question Id : 50521224350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT an effective intervention to include children from marginalised groups in a classroom?

Options :

1. Providing opportunities of participation in classroom discussions.

2. Ensuring participation of children in all the activities of school.

3. Regular monitoring of attendance and retention of children.

4. Segregated seating arrangement on the basis of group affiliation.

Question Number : 18 Question Id : 50521224350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 50521224351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Match the following:
Disability Description

(A) Dysphasia (i) Difficulty in carrying out routine tasks involving
balance, fine motor control and Kinaesthetic
coordination

(B) Dyspraxia (ii) A disability that affects the ability to write
coherently

(C) Dyscalculia (iii) A disability that effects learner’s ability to perform
mathematical calculations

(D) Dysgraphia (iv) A language disorder that affects communication
skills and comprehension abilities

Choose the correct one.

Options :

1. (iii), (1), (1), (iv)

2. (iv), (iii), (ii), (i)

3. (1), (iv), (ii), (iii)

4. (iv), (1), (iii), (i1)

Question Number : 19 Question Id : 50521224351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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4 A(iv), (i), C(iii), D(ii)

Question Number : 20 Question Id : 50521224352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

How can a teacher foster creative thinking?

Options :

1. By keeping constant surveillance on learners.

2. By expecting nothing less than perfection from every learner.

3. By providing learners opportunities in different ways.

4. By selecting very difficult activities for learners and providing them rigid directions to follow.

Question Number : 20 Question Id : 50521224352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 50521224353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What sequence a child should adopt while solving a problem?

Options :

1. Identifying the problem, hypothesizing, testing the hypothesis, Data collection.

2. Data collection, hypothesizing, hypothesis testing, analysis of data.

3. Defining the problem, analysing the problem, hypothesizing, testing the hypothesis.

4. Analysing the problem, data collection, hypothesizing interpretation of result.

Question Number : 21 Question Id : 50521224353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 50521224354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher who believes that all students in her class are capable of improving their performance by studying more, attributes the children's
success to their-

Options :

1. ability.

2. effort.

3. anxiety.

4. genetic make-up.

Question Number : 22 Question Id : 50521224354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 50521224355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher should have high expectations -

Options :

1. only from the bright students.

2. from all students irrespective of their gender and class.

3. from all students except those who belong to 'special category'.

4. from boys and girls in different areas such as-in mathematics from boys and in languages from girls.

Question Number : 23 Question Id : 50521224355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 50521224356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which framework proposes that learning is active and takes place in cultural contexts?
Options :

1. Socio-constructivist

2. Behaviourist

3. Information-processing

4. Constructivist

Question Number : 24 Question Id : 50521224356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 50521224357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Peter says, 'I fail because I am stupid, and that means I will always fail'.

This is a case of-

Options :

1. divergent thinking.

2. self actualisation.

3. achievement motivation.
4. learned helplessness.

Question Number : 25 Question Id : 50521224357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 50521224358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

National Education Policy 2020 proposes that should be encouraged to promote

Options :

1. rote memorization; recall.



2. rote memorization; critical thinking.
3. experiential learning; critical thinking.
4. experiential learning; recall.

Question Number : 26 Question Id : 50521224358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 50521224359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Students learning is likely to improve when-

Options :

1. the same study material is given to everyone without taking into account the individual and cultural differences of learners.

2. study material is organised into conceptual structures.

3. study material is divided into small unrelated bits of information.

4. study material consists of a list of definitions without any examples.

Question Number : 27 Question Id : 50521224359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 28 Question Id : 50521224360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following teachers would be most effective in maximizing academic learning time?

Options :

1. A teacher, who focuses on classroom discipline. Her students are reprimanded everytime she notices what she perceives to be an off-
task behaviour.

2. A teacher who informs her students how long they will have to complete the activity and plays music during the time of transition.
3. A teacher, who regularly starts one activity, stops it in favour of another, then returns to the first activity.

4. A teacher, who requires his students to sit up straight and focus all the attention on copying from the blackboard.



Question Number : 28 Question Id : 50521224360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 29 Question Id : 50521224361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

When a child 'fails' in examination, it means-

Options :

1. the child did not memorize the answers thoroughly.

2. the parents have failed and should have made provisions for tuitions for the child.

3. the child is not fit to study in school.

4. the system has failed.

Question Number : 29 Question Id : 50521224361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 30 Question Id : 50521224362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): Children need to be provided opportunities such as manipulation of objects, experiments, brainstorming and discussions to
foster their inherent interest in meaning-making

Reason (R): Learning is active and social in its character.



Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 30 Question Id : 50521224362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 31 Question Id : 50521224363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If the costs of potato, tomato and onion in Rupees are 20 per kg, 20 per 500 gm and 12.25 per 250gm respectively,
then number of coins of 25 paisa in the total cost of purchasing 2 kg potatoes, 500 gm tomatoes and 0.75 kg onions
are
Options :

| 387
o 384
3 428

4 432



Question Number : 31 Question Id : 50521224363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

afg 317e], TATER AT == & Hew (T9ET A) FAT 220 wi R, 220 iy 500 @, sk 21225 9
250 oA g, @ 2 frarens 31me], 500 A TATeR R 0.75 Fhdrms e wles & v smaws oy 7
25 9 & faraer foess ghn

Options :
| 387

, 384
5 428

4 432

Question Number : 32 Question Id : 50521224364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following shows the smallest value when n represents a natural number?
Options :
1. h+ 2

2. nX 0.7

Question Number : 32 Question Id : 50521224364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

I n TH WIFd WEAT §, O 598 ¥ TEW O AT HiF-E1 g

Options :
. h = 2

> nx 0.7
3 h=12
4. N % 1:2

Question Number : 33 Question Id : 50521224365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The number of binary digits in the binary representation of 257 are
Options :
1. 8

2.9



4 10

Question Number : 33 Question Id : 50521224365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

257 WEAT & AT JEIA0r H fohaar 3t gier?
Options :

1. 8

2. 9

3. 7

4. 10

Question Number : 34 Question Id : 50521224366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following has the maximum value if n denotes a natural number?
Options :
1. S5+n

7. 5n

n+5

3. 5
4. 5n—n

Question Number : 34 Question Id : 50521224366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

I n TF UIFA TET §, O 5N ¥ TEw FOw me e gem?

Options :
1. 5+n

2. 5n

n+b5
4. Bn-n

Question Number : 35 Question Id : 50521224367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



On a sheet of paper dots of colours red and black are marked. Red dot is bigger than the black dot. Jaya and Rani were
throwing bangles on that sheet. For each red dot inside bangle they will get 10 points and for each black dot 1 point.
The one getting more points will be the winner. Jaya has 3 red dots and 4 black dots inside her bangle and Rani has 2
red dots 12 black dots inside her bangle. Identify the winner and state the reason.

Options :
1. Java, as she gets more points than Rani

5 Rani, as she gets more points than Jaya
3 Game is a draw as both of them earn equal points

4 Winner cannot be determined as data is incomplete

Question Number : 35 Question Id : 50521224367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 36 Question Id : 50521224368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The difference between the least common multiple and the highest common factor of 36, 54 and 60 in
Options :
1. 534

» 536
3 540
4. 600

Question Number : 36 Question Id : 50521224368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

36, 54 3R 60 & AR FAAGTSH AR FoadH FHALAS UGS F & H AT gl
Options :




| 534
, 536
5 540

4 600

Question Number : 37 Question Id : 50521224369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Misbah has divided a square piece of paper into 10 equal parts by drawing 10 horizontals lines. Among this she
coloured six rectangular strips with red paint. Later the paper was divided into 10 equal parts by drawing vertical lines.
Which of the following fraction does not represent the coloured parts?
Options :

Question Number : 37 Question Id : 50521224369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 38 Question Id : 50521224370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Aparna had a sheet of paper as follows

Ji 15 18
1 12 33
5 2 42

She rolled a standard dice and coloured all the numbers on the sheet which are a multiple of the turned up numbers. If
she could not colour 1, 2, 5 and 7 identify the number turned up in that throw.

Options :

1,

Question Number : 38 Question Id : 50521224370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

1, %

2.5
3.3

4. 2

Question Number : 39 Question Id : 50521224371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Ariba and Ayaan decided to use nails and a thread to make a circle on the ground. Ariba took a thin rope of length 5
meters and tied nails on both ends of the rope. Ariba fixed one end of the rope in the ground and kept holding it. She
gave other end of rope to Ayaan and asked him to draw a circle. Similarly Ayaan took a thin rope of length 3 meters
and made a circle in a same manner. What will be the ratio of areas of these two circles?
Options :
1.5:3

5 25:9

3 10:19



4 6.25:2.25

Question Number : 39 Question Id : 50521224371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

HiET HR 3T 7 FHA W TF Jod 94 & € Hal AT U F SEIHT FA F haer |
3iET & 5 e 7 v Tqer T & AR I F o B W Fer w7 ety Gam sl g #
T BN A H e AN 3 T3 W AR gET B8R W F g a9 & v G a7 8 3
Hrex & ve Taer WA o 3R 3T Fr R & TF ged §ATI 59 Al geal % &SI H A
T grem?

Options :
1. 5.3

, 25:9
; 10:19
4 6.25:2.25

Question Number : 40 Question Id : 50521224372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In a row of 17 students when Rakesh was shifted by three places towards the left, he became 7th from the left end.
What was his earlier position from the right end of the row?
Options :

1 ?th
5 8t|":
3 gth

4. 10

Question Number : 40 Question Id : 50521224372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 41 Question Id : 50521224373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

From one corner of a 4 unit squared sheet, a unit squared piece is taken out. Which of the following statements is
correct with respect to the given situation?
Options :

1. The perimeter of the remaining shape will be more than the original sheet

5 The area of the remaining shape will be more than the original sheet
3 There is no change in perimeter

4 There is no change in area

Question Number : 41 Question Id : 50521224373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 42 Question Id : 50521224374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

During sports day, lemon juice has been prepared and stored in a bucket whose capacity is 15 L. Two types of glasses
were used for distributing the juice to athletes. One glass has a capacity of 100ml and the other is with the capacity
150ml. Which pair among the following is NOT a possible number of glasses if lemon juice were completely
distributed?
Options :
.. (60, 60)

, (15,90)
;. (90,40)

4 (50,70)

Question Number : 42 Question Id : 50521224374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

| (60, 60)

(15, 90)

NS

(90, 40)

(50, 70)

Question Number : 43 Question Id : 50521224375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Siju’s bus starts at 6:40 am. It takes 10 minutes journey to reach bus stop from his house. He needs a sleep of 7 hours
before the day of Journey. After waking up he requires half an hour to get ready. If he wants to reach bus stop on time,
at what time he should go to sleep in the previous day?

Options :

1. 11:00 pm

~12:00 midnight

NS

3 11:30 pm

4 11:40 pm

Question Number : 43 Question Id : 50521224375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

. 11:00 pm

, 12:00 IegTfy
- 11:30 pm

~11:40 pm

Question Number : 44 Question Id : 50521224376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Study the following pattern

9x9+7=88
98 x99 +6 =888
987 %9+ 5=238888

What will be the value of 98765 x 9 + 37
Options :
| 888888

, 888883
;. 8888388
4 888898

Question Number : 44 Question Id : 50521224376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ffaf@a e #r afev
9x9+7 = 88
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987x9+5 = 8888

98765%9+3 T HATA FIT g2
Options :

| 888388

, 88888

; 8888888

, 888898

Question Number : 45 Question Id : 50521224377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Following table gives the mode of transportation of students in a school.

Mode of transportation

No. of Students in

fraction
Cycle f th of the students
Private vehicle i th of the students
School bus é rd of the students
Walk i th of the students

If the remaining 13 students use other modes, then how many students use school bus?

Options :
1. 156

5 280
3. 260

4. 780

Question Number : 45 Question Id : 50521224377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
. 156
, 280
;. 260
4 780

Question Number : 46 Question Id : 50521224378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

To teach the concept of place value the teacher brings in a variety of material into her classroom like abacus, Dienes
blocks, and currency notes of 1, %10, and %100. Which principle of Dienes theory is the teacher referring to in the
above scenario?

Options :

1 Dynamic Principle

2 Mathematical Variability Principle
3 Perceptual Variability Principle

4 Constructivity Principle

Question Number : 46 Question Id : 50521224378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 47 Question Id : 50521224379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Errors play an important role in mathematics. This statement is : -
Options :
|, False, as errors indicate careless attitude towards mathematics

5 True, they help teacher understand how children construct mathematical concepts
3 False, as mathematics is considered free from errors

4 True, aserror are indicative of low 1Q,

Question Number : 47 Question Id : 50521224379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 48 Question Id : 50521224380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A common error that we often encounter when children are asked to add two fractions is: they add the numerator
with the numerator and denominator with the denominator. What could be the possible reason for such a
misconception?
Options :

1. Lack of conceptual understanding of the teacher

> Lack of attention of students in the class

3. Generalization of facts learned in addition being applied to fractions

4 Non-availability of teaching — learning material

Question Number : 48 Question Id : 50521224380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id : 50521224381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The most appropriate formative task to assess the students’ understanding of data collection is
Options :
1. Classroom Discussion

> Crossword

3 Survey Based project



4 Role play

Question Number : 49 Question Id : 50521224381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 50 Question Id : 50521224382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Engaging students in mathematical activities at primary level can help in many ways like :

(a) Providing opportunities to children to explore many abstract concepts and learn computational strategies
(b) Help to utilize free periods given in time - table

(c) Help students deepen their mathematical understanding and reasoning

(d) Serve as a tool for summative assessment

Choose the correct option
Options :
1. (a)and (d)

7 (b)and (c)
3. (b)and (d)

4 (@) and ()

Question Number : 50 Question Id : 50521224382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Fraffe TR W oHE F A0 et § ord T age TR § TgEF @ Fohal g, S T -
a. Ol & F§ AT FTURUTHT F H=w0T w 3R e wEifodh & dea F 325 5@
FT ¢
b. THT-OROT & fET T Welr Freneit T 3YAET N H TgIdT &aT £
c. BTAr & 37T TUET THeT UF e & #R TES aa ¥ TEEar &4 B
d. g HFAT F SYFHIOT FT F1T FIT 2
wer fawe & gme e

Options :




| (a) 3R (@)
, () 3R (©)
. (b) 3R (@)

4. (@) #R (¢)

Question Number : 51 Question Id : 50521224383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Geometry has been identified as one of the important areas of mathematics and should be an integral part of primary
mathematics. This is because :

Options :

1. All students get good marks in geometry as it is easy to understand

5 Geometry is activity oriented and hence provides play time

3 Many famous mathematicians have contributed towards development of geometry

4.
Experiences in geometry help in learning and visualising mathematical ideas and concepts that are useful in daily life

Question Number : 51 Question Id : 50521224383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 52 Question Id : 50521224384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Ms Shreya, a primary class mathematics teacher uses various methods to teach addition of 2 — digit numbers to her
learners, like,

@M 23 (i) 20+3 (iii) (23 +46) =(20+3)+(40+6)
+4 6 +40+6 =(20+40)+ (6 + 3)
69 60+9=69 =60+9=69

Which of the following statements is most appropriate for her Pedagogy?

Options :
1 She is focusing only on mathematical communication

2 She is offering her students a multiplicity of approaches in solving problems in mathematics
3 She is confusing the students with so many methods

4 Sheis wasting a lot of time in solving one problem

Question Number : 52 Question Id : 50521224384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 50521224385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In a game of marbles, Renu lost 4 marbles. She is left with 7 marbles. With how many marbles did she start the game?
The above guestion is an example of

Options :
1 Contextual question on addition

2 Open-ended question

3 Multiple choice question



4 Contextual question on subtraction

Question Number : 53 Question Id : 50521224385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 50521224386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Where do we use sexagesimal system?
Options :

1 In guantification of data

5 Inmeasuring angles

3 In measuring distances in foot and yards

4 In writing Hindi - Arabic numerals

Question Number : 54 Question Id : 50521224386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 50521224387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which one of the following is true about teaching and learning of mathematics in classes | and 1l as per the vision of
National Curriculum Framework (2005)?

Options :

1. Focus on algorithms and rote learning.

7 Only oral Mathematics Problems should be done in classes | and Il
3 Mathematics should be integrated with other subjects like language, arts, EVS etc.

4 Mathematics should not be taught in classes | and |l

Question Number : 55 Question Id : 50521224387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 50521224388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In a constructivist classroom, for introducing the multiplication of decimals, which among the following is most
appropriate?
Options :

1. Using grids to represent decimals and then introduce multiplication of decimals

, Convert decimals to fractions and then multiply.
3 Convert decimals to whole numbers and then multiply.

4 Use formal algorithm to solve the questions followed by a practice worksheet.

Question Number : 56 Question Id : 50521224388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 50521224389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A classroom discussion was initiated on the topic of ‘Sale and Discount in festival season’ while teaching the concept of
‘Percentage’. This type of discussion in classroom

Options :
1 helps the students to enhance their debating skills.

helps the students to listen to each other’s opinion and encourage them to present their argument thus improving
7 their speaking skills.

3. must be avoided as it raises the noise level of class and disturb others.

4 helps the students to connect classroom mathematics with the real world thus improving conceptual clarity.

Question Number : 57 Question Id : 50521224389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 50521224390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following questions would be the most appropriate to assess the mathematical thinking of children?
Options :
1. Solve 4.25 % 0.5

5 If afruit costs Rs.4.25 per kilogram, how much would you pay for 0.5 kg?



3 If 4.25is multiplied by a number between 0 and 1, is the product less than or greater than 4.25? Explain.

4 Explain the standard algorithm of multiplying 4.25 with 0.5

Question Number : 58 Question Id : 50521224390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 50521224391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following activity teacher can use for class Il children to teach about subtraction of one digit numbers.
Options :

1.

Draws 6 dots and encircles 2 among them and asks children to count the remaining dots. Repeats the some process
with similar examples.

o Writes 6 — 2 = 4 on black board and asks children to write it 10 times in their note book

3 Teacher asks children to read aloud all the problems written on the black board

4 Teacher gives a lot of numerical problems like 17- 8, 14 - 12 etc. to practice

Question Number : 59 Question Id : 50521224391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 50521224392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Rihana wants to become a good mathematics teacher. To be a good mathematics teacher, she must have
Options :
1 the skills to prepare students for math Olympiads.

5 Conceptual understanding and ability to relate the content of mathematics with real life
3 The ability to recall all formulae & theorems

4 Ability to solve mental math problems

Question Number : 60 Question Id : 50521224392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Environmental Studies

Section Id : 505212783
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30

Section Marks : 30

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5052121415
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 50521224393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

An EVS teacher has a student from Abu Dhabi, in her class. The teacher has her online class scheduled at 10:00 AM (IST). What time will
the student attend her online class from his home in Abu Dhabi?

Options :



1. 11:00 AM
2.07:30 AM
3.12:00 PM
4.05:00 AM

Question Number : 61 Question Id : 50521224393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
L 11:00 AM

, 07:00 AM
3 12:00 PM

4. 05:00 AM

Question Number : 62 Question Id : 50521224394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is the least used type of cooking oil in India:

Options :

1. Palm Oil

2. Mustard Oil

3. Coconut Oil

4. Groundnut Oil

Question Number : 62 Question Id : 50521224394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 63 Question Id : 50521224395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The principal asked an EVS teacher to select indoor plants for her office. Which of the following group will he select:

Options :

1. Aloe vera, Petunia, Money plant.

2. Aloe vera, Money plant, Croton.

3. Money plant, Petunia, Mint.

4. Aloe vera, Mint, Geraniums.



Question Number : 63 Question Id : 50521224395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 64 Question Id : 50521224396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In villages, it is common to observe how women at home remove the husk from the grain. This method is known as:

Options :

1. Sieving

2. Handpicking

3. Winnowing

4. Threshing

Question Number : 64 Question Id : 50521224396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 65 Question Id : 50521224397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The relationship between organisms where one organism benefits from the association while the other is harmed, is known as:
Options :

1. Symbiosis

2. Mutualism

3. Competition

4. Parasitism

Question Number : 65 Question Id : 50521224397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 66 Question Id : 50521224398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Endemic species are

Options :

1. rare species.

2. endangered species.

3. imported species.

4. species found in particular area.

Question Number : 66 Question Id : 50521224398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 67 Question Id : 50521224399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following is/are consequence/s of deforestation?

(a) Increase of atmospheric temperature

(b) Increase in level of CO, in atmosphere

(c) Increase of ground water level

(d) Increases chances of natural calamities such as flood and drought.
Options :

1. (a), (b) and (c)

2.(b)and (c)

3. (a), (b) and (d)

4. (a), (b), (c) and (d)



Question Number : 67 Question Id : 50521224399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 68 Question Id : 50521224400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following statements are true regarding cold and hot deserts:

(a) Hot deserts have high temperature while cold deserts have low temperature.
(b) hot deserts are battered by sun and are sandy. Cold deserts have ice and snow covered ground.
(c) Hot deserts are red or orange while cold deserts are gray.

(d) Hot and cold deserts experience a significant seasonal effect.
Options :

1. (a) and (b)

2. (a), (b) and ( ¢)

3.(a)and (c)

4. (a), (b), (c ) and (d)

Question Number : 68 Question Id : 50521224400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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4 a,b,caﬁ'(d

Question Number : 69 Question Id : 50521224401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

National Parks are important for preservation of wild life. Which National Park is the oldest in India?

Options :

1. Kaziranga National Park

2. Jim Corbet National Park

3. Kanha National Park

4. Bandhavgarh National Park

Question Number : 69 Question Id : 50521224401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 70 Question Id : 50521224402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Identify the correct sequence of seed germination from the steps given below:

(a) After the leaves appear, then the young plants can make their own food.

(b) Seed absorbs water through a hole. This softens the seed coat and it ruptures.
(c) A soft shoot emerges from the seed and grows upwards.

(d) During this stage, the baby plant lives on the food stored in the seed.

(e) A small root emerges from the seed which grows downwards.
Options :

1. (a), (b), (¢), (d), (¢)

2. (a), (0, (b), (¢ ), (d)

3.(b), (e), (d), (¢), (a)

4. (e), (b), (¢), (d), (a)

Question Number : 70 Question Id : 50521224402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 71 Question Id : 50521224403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Choose the correct journey of a bajra seed from field to plate:

Options :

1. Harvesting, Threshing, Kneading, Winnowing, Grinding, Roasting, Rolling

2. Harvesting, Winnowing, Grinding, Threshing, Kneading, Rolling, Roasting

3. Harvesting, Threshing, Winnowing, Grinding, Kneading, Rolling, Roasting

4. Harvesting, Threshing, Grinding, Roasting, Kneading, Rolling, Winnowing

Question Number : 71 Question Id : 50521224403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 72 Question Id : 50521224404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Red data book keeps record of

Options :

1. red flowered plant

2. all plant and animals present on the earth

3. all animals present on the earth

4. endangered plants and animals



Question Number : 72 Question Id : 50521224404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 73 Question Id : 50521224405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Nehru Institute of Mountaineering is situated in

Options :

1. Uttarkashie

2. Darjeeling

3. Dharamshala

4. Ooty

Question Number : 73 Question Id : 50521224405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 74 Question Id : 50521224406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Identify which of the following states have sea on ONE side?

Options :

1. Gujarat, Maharshtra, Goa, Karnataka, Kerala, Tamil Nadu, Andhra Pradesh, West Bengal and Andaman and Nicobar Islands.

2. Gujarat, Maharshtra, Goa, Karnataka, Kerala, Tamil Nadu, Andhra Pradesh, West Bengal and Odisha.

3. Gujarat, Madhya Pradesh, Goa, Karnataka, Kerala, Tamil Nadu, Andhra Pradesh, West Bengal and Odisha.

4. Gujarat, Madhya Pradesh, Goa, Karnataka, Kerala, Tamil Nadu, Andhra Pradesh, West Bengal and Jharkhand.

Question Number : 74 Question Id : 50521224406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 75 Question Id : 50521224407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Harvest festivals are major occasions of joy and gaiety. Identify the correct statements

(a) Uttar Pradesh, Bihar and Madhya Pradesh celebrate Til Sankranti.
(b) Jhrakhand celebrates Pongal and Tamil Nadu celebrates Nabanna.
(¢) Gujarat celebrates Lohri and Kerala celebrates Onam.

(d) Maharshtra celebrates Gudi Padwa, Assam celebrates Bihu and West Bengal celebrates Nabanna.
Options :

1. (a) and (b) are true

2. (a) and (d) are true

3. (a) and (c) are true

4. (b) and (d) are true

Question Number : 75 Question Id : 50521224407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 76 Question Id : 50521224408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Mr Lokesh was talking about landfills and their effect on environment. He asked students to visit the nearby landfill area and prepare a
case-study report. This activity is important as it:



(a) helps students discover cause-effect relationships
(b) helps students to know the landfill site in an area.
(c) helps students to go out of classroom and enjoy.

(d) helps students analyze and think of situations to mitigate the problem.
Options :

1. (a) and (b) only

2.(a), (b)and (c)

3. (c) and (d) only

4. (b), (c) and (d)

Question Number : 76 Question Id : 50521224408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 77 Question Id : 50521224409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Students are asked to prepare models related to environmental problems and solutions and participate in a national exhibition. This is a
good way to engage students as:

Options :

1. Model making keeps study busy and engaged.

2. Model making using expensive material makes them happy.
3. Model making develop critical thinking of students.

4. Model making breaks the monotony of classroom.

Question Number : 77 Question Id : 50521224409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 78 Question Id : 50521224410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following activities can be used by an Environmental Studies teacher to impart process skills to her students.
Options :

1. Dancing

2. Gardening

3. Recitation

4. Singing

Question Number : 78 Question Id : 50521224410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 79 Question Id : 50521224411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Two pots were placed in the garden and in both of them seeds of Beans were sown. Teacher asked Radha to put two pots at two different
places - one in shade and one in sunlight and asked them to make and record the observations daily in the note book. This will help Radha
in:

Options :

1. enhancing her confidence.

2. developing her observation skills.

3. presentation of concepts.

4. punctuality and discipline

Question Number : 79 Question Id : 50521224411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 80 Question Id : 50521224412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

How can an EVS teacher make her students a best protector of the environment.

Options :

1. Asking them to reuse, recycle the products

2. Asking them to develop new resources

3. Making them to be care taker of one plant/tree of their locality

4. Asking them not to harm the nature

Question Number : 80 Question Id : 50521224412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 81 Question Id : 50521224413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following is/are achieved through enquiry based learning:

(a) Enhancement in curiosity of the student
(b) Students' engagement in learning
(c) Social interaction among students

(d) Developing lower order cognitive process
Options :

1. (c¢) and (d) only

2. (a) and (b) only

3. (a), (b) and (d) only

4. (a), (b) and (c) only

Question Number : 81 Question Id : 50521224413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 82 Question Id : 50521224414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Experiential learning is important for improving the learning abilities of students. Which one of the following can be achieved through
experiential learning:

a. Sensory experiences
b. Concrete experiences
¢. Gain in more knowledge and better grades

d. Improvement in process skills
Options :

1. (a), (b) and (d)

2. (b) and (¢ ) only

3.(d) only

4. (c) and (d) only

Question Number : 82 Question Id : 50521224414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 83 Question Id : 50521224415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Sachin comes from a socio economically disadvantaged background, Mrs. Khurana his class teacher should help Sachin and create a
classroom background/environment which

Options :

1. values his cultural and social background.

2. discourages the use of his vernacular language and focuses on English.
3. Categorizes him into a separate group.

4. Teaches him etiquettes and manners which she feels he lacks.

Question Number : 83 Question Id : 50521224415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 84 Question Id : 50521224416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which out of the following can help a teacher to make his EVS classroom effective.

a. Garden of school
b. Communication Technology
¢. Information and Communication Technology

d. Electronics and TV
Options :

1. (a) and (c) only

2. (b), (¢) and (d)

3. (b) and (c) only

4. (a) only

Question Number : 84 Question Id : 50521224416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 85 Question Id : 50521224417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Mrs Mehra wants to assess her students for inter-personal/social qualities. Which tool should she use for assessment in her EVS class.

a. Pencil Paper Test
b. Discussion
c. Group Activity

d. Oral Questions
Options :

1. (b) & (c) only
2. (a), (b)and (¢)
3. (b), (c) and (d)
4. (c) and (d) only

Question Number : 85 Question Id : 50521224417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1 AT H TR TR % AT 1 SUGNT 0
a. TIRgd 74937
b. == g
d. Hiftges 79 3%

Options :
1. THIA b 3ﬁ-{ C

a,baﬁ'{'c

2.

; b,cad



4. %ﬁﬁ-caﬁ-{d

Question Number : 86 Question Id : 50521224418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Environmental Studies teacher Mr Mehta always carries Map of India in his class because

Options :

1. maps are well drawn and students like them

2. students enjoy looking at maps

3. maps help students to understand relative positions of places and directions

4. students stay quiet and attentive in class

Question Number : 86 Question Id : 50521224418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

qITIE0T STSTT o ST o HEAT ST o791 ST SH9T W 3T T o1 5 B, 911 -
Options :
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Question Number : 87 Question Id : 50521224419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Mr Arjun often asks interesting questions in the EVS class regarding what students saw while they were walking down the playground
after games class. By this, Mr Arjun is assessing students":

Options :

1. listening skills.

2. thinking skills.

3. observation skills.
4. emotional skills.

Question Number : 87 Question Id : 50521224419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 88 Question Id : 50521224420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following is NOTa good method of EVS education at primary level.

Options :

1. Asking students to make observations

2. Giving conceptual facts in classroom lectures

3. Field visits

4. WatchingDocumentaries

Question Number : 88 Question Id : 50521224420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 89 Question Id : 50521224421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Mrs Manisha wants to create a better EVS learning environment. She plans to

Options :

1. take extra classes every weekend.

2. give notes to students.

3. make them cram the notes.

4. conduct a survey of neighbourhood.

Question Number : 89 Question Id : 50521224421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 90 Question Id : 50521224422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

EVS follows the approach of

Options :

1. social constructivism



2. assosiationism
3. behaviourism
4. observational learning

Question Number : 90 Question Id : 50521224422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
THTEROT =g farer JUTTH T AT AT E -
Options :
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Language I
Section Id : 505212784
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 17
Number of Questions to be attempted : 17
Section Marks : 30
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5052121416
Question Shuffling Allowed : Yes

Question Id : 50521224423 Question Type : COMPREHENSION Sub Question Shuffling Allowed
Questions : No

Question Numbers : (91 to 99)
Question Label : Comprehension

: Yes Group Comprehension



Read the passage given below and answer the question/complete
the statements that follow by choosing the best options from the
given ones.

1. By absolute standards, people are slow readers. Yet, they
differ widely in reading rates. Some gulp books by taking in
a hundred words or more within a minute; others plod along
through weeks or more. However, there is nothing to prove
that slow readers retain and comprehend the reading matter
better.

. Now, it is a fast that the reading rate can be improved by
exercise. Many techniques to teach people to read faster were
undertaken, for the first time at Harvard University in the
United States after the Second World War, and classes were
organised for businessmen wishing to learn fast reading.

3. A widely held opinion is that when a person reads, his eyes
sweep smoothly across the page. Actually during an hour of
continuous reading, his eyes remain fixed for an average of
57 minutes, and only move in the remaining three minutes.
The greater the number of words the reader can cover during
a stop and the better he comprehends them. the faster the
reading. Precisely this goal is sought in training people to
read fast.

4. It appears that fast reading should be started at school when
children have not yet picked up bad reading habits
(especially subvocalising), that is the tendency to form
words with their vocal chords. It is a well known fact that a
drawing, a diagram or a photograph will usually carry more
information than a printed text taking up the same area. A
person grasps this graphic information all at a time. This
ability is usually utilized in technical publications, but not ta
the full extent yet. Coupled with fast reading, this may raise
the rate of information input tens or even hundreds of times.

(B

Sub questions

Question Number : 91 Question Id : 50521224424 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Read the following statements:

a) Some people read books very fast.

b) However, they do not understand all that they have
read.

c) Slow readers have better understanding and retention
of the materials that they have read.

(a) is true and (b) and (c) are false.
(a) and (b) are true and (c) is false.
(a) is false and (b) and (c) are true.
4. (a)and (c) are true and (b) is false.

=

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 50521224425 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following countries initiated the efforts to
make businessmen learn fast reading?

Germany

The United Kingdom
The United States
France

Options :

1.1

2.2

3.3

4.4

W

&

Question Number : 93 Question Id : 50521224426 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In one hour of continuous reading for how long do a
person’s eyes remain static?

1 minute

3 minutes
57 minutes
. All the time
Options :

1.1

2.2

3.3

4.4

w1

e

Question Number : 94 Question Id : 50521224427 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The number of words a reader understands is
proportional to his reading speed.

directly
inversely
conversely
reciprocally

W

g

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 50521224428 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Read the following statements.

a) Printed materials take up a lot a space.
b) Graphic information can be used only for technical
publication.

(a) is wrong and (b) is right.
(a) is right and (b) is wrong.
both (a) and (b) are right.
both (a) and (b) are wrong.

[P I S

e

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 50521224429 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Some gulp books (para 1)
‘Gulp’ here means that they are

1. slow readers.
2. fast readers.
3. moderate readers.
4. inconsiderate readers.
Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 50521224430 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In vocal chords (para 4) vocal is used as a/an

verb
noun
adverb
adjective

s pd B

b

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 50521224431 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



others plod along. (para 1)
The underlined word is a/an

verb
adverb
noun
adjective

W

P

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 50521224432 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In which of the following sentences is the word ‘retained’
used in the same sense as in (para 1) slow readers retain

a

The police retained control of the situation.
Clay soil can retain water.
He retained a consultant for tax calculations.
He retained his freedom by strictly following the
rules
Options :
1.1
2.2
3.3
4.4

L d =

i

Question Id : 50521224423 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (91 to 99)
Question Label : Comprehension



Read the passage given below and answer the question/complete
the statements that follow by choosing the best options from the
given ones.

1. By absolute standards, people are slow readers. Yet, they
differ widely in reading rates. Some gulp books by taking in
a hundred words or more within a minute; others plod along
through weeks or more. However, there is nothing to prove
that slow readers retain and comprehend the reading matter
better.

. Now, it is a fast that the reading rate can be improved by
exercise. Many techniques to teach people to read faster were
undertaken, for the first time at Harvard University in the
United States after the Second World War, and classes were
organised for businessmen wishing to learn fast reading.

3. A widely held opinion is that when a person reads, his eyes
sweep smoothly across the page. Actually during an hour of
continuous reading, his eyes remain fixed for an average of
57 minutes, and only move in the remaining three minutes.
The greater the number of words the reader can cover during
a stop and the better he comprehends them. the faster the
reading. Precisely this goal is sought in training people to
read fast.

4. It appears that fast reading should be started at school when
children have not yet picked up bad reading habits
(especially subvocalising), that is the tendency to form
words with their vocal chords. It is a well known fact that a
drawing, a diagram or a photograph will usually carry more
information than a printed text taking up the same area. A
person grasps this graphic information all at a time. This
ability is usually utilized in technical publications, but not ta
the full extent yet. Coupled with fast reading, this may raise
the rate of information input tens or even hundreds of times.

(B

Sub questions

Question Number : 91 Question Id : 50521224424 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Read the following statements:

a) Some people read books very fast.

b) However, they do not understand all that they have
read.

c) Slow readers have better understanding and retention
of the materials that they have read.

(a) is true and (b) and (c) are false.
(a) and (b) are true and (c) is false.
(a) is false and (b) and (c) are true.
4. (a)and (c) are true and (b) is false.

=

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 50521224425 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following countries initiated the efforts to
make businessmen learn fast reading?

Germany

The United Kingdom
The United States
France

Options :

1.1

2.2

3.3

4.4

W

&

Question Number : 93 Question Id : 50521224426 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In one hour of continuous reading for how long do a
person’s eyes remain static?

1 minute

3 minutes
57 minutes
. All the time
Options :

1.1

2.2

3.3

4.4

w1

e

Question Number : 94 Question Id : 50521224427 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The number of words a reader understands is
proportional to his reading speed.

directly
inversely
conversely
reciprocally

W

g

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 50521224428 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Read the following statements.

a) Printed materials take up a lot a space.
b) Graphic information can be used only for technical
publication.

(a) is wrong and (b) is right.
(a) is right and (b) is wrong.
both (a) and (b) are right.
both (a) and (b) are wrong.

[P I S

e

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 50521224429 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Some gulp books (para 1)
‘Gulp’ here means that they are

1. slow readers.
2. fast readers.
3. moderate readers.
4. inconsiderate readers.
Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 50521224430 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In vocal chords (para 4) vocal is used as a/an

verb
noun
adverb
adjective

s pd B

b

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 50521224431 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



others plod along. (para 1)
The underlined word is a/an

verb
adverb
noun
adjective

W

P

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 50521224432 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In which of the following sentences is the word ‘retained’
used in the same sense as in (para 1) slow readers retain

a

The police retained control of the situation.
Clay soil can retain water.
He retained a consultant for tax calculations.
He retained his freedom by strictly following the
rules
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2
Sub-Section Id : 5052121417
Question Shuffling Allowed : Yes

L d =

i

Question Id : 50521224433 Question Type : COMPREHENSION Sub Question Shuffling Allowed

Questions : No
Question Numbers : (100 to 105)
Question Label : Comprehension

: Yes Group Comprehension



Read the stanza given below and answer the questions/complete the
statements that follow by choosing the correct options from the given
once:

EARTHY ANECDOTE

Every time the bucks went clattering
Over Oklahoma

A firecat bristled in the way.
Wherever they went,

They went clattering

Until they swerved

In a swift circular line

To the right,

Because of the firecat.

Or until they swerved

In a swift, circular line

To the left,

Because of the firecat.

The bucks clattered,

The firecat went leaping,

To the right . to the left,

And bristled in the way.

Later, the firecat closed his bright eyes
And slept.

Wallace Stevens

Sub questions

Question Number : 100 Question Id : 50521224434 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The bucks clattered ...... The underlined word stands for

1. dollars

2. quick easy money
3. male deer

horse

Options :

1.1

2.2

3.3

4.4

Pl

Question Number : 101 Question Id : 50521224435 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The bucks move over a

a) rocky area
b) hard ground
c¢) circular path

a)
b)
b) and (c)
a)and (b)

only
only
both
both
Options :

1.1

Pooli-pa
—



2.2
3.3
4.4

Question Number : 102 Question Id : 50521224436 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Why did the bucks ‘clatter’ and ‘swerve’ to ‘left” and

‘right’?

They were playing with each other.
They were trving to save themselves.
They were chasing the firecat.

The path was so designed.

W

B

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 50521224437 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is an antonym of “circular’?

Round
Straight
Curved
. Tubular
Options :

1.1

2.2

3.3

4.4

W

Jea

Question Number : 104 Question Id : 50521224438 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In (line 3) the expression ‘the firecat bristled in the way’
does not mean that he

obstructed the path.

moved playfully.

stood upright in anger.

4. dissuaded the bucks from their path.

b

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 50521224439 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The Firecat ‘closed his bright eyes and slept” as he:

1. was tired.
2. had satisfied his hunger.
3. realised the chase to be useless.
4. was hurt while leaping.
Options :
1.1
2.2
3.3
4.4

Question Id : 50521224433 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (100 to 105)
Question Label : Comprehension

Read the stanza given below and answer the questions/complete the
statements that follow by choosing the correct options from the given
once:

EARTHY ANECDOTE

Every time the bucks went clattering
Over Oklahoma

A firecat bristled in the way.
Wherever they went,

They went clattering

Until they swerved

In a swift circular line

To the right,

Because of the firecat.

Or until they swerved

In a swift, circular line

To the left,

Because of the firecat.

The bucks clattered,

The firecat went leaping,

To the right . to the left,

And bristled in the way.

Later, the firecat closed his bright eyes
And slept.

Wallace Stevens

Sub questions

Question Number : 100 Question Id : 50521224434 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The bucks clattered ...... The underlined word stands for

1. dollars

2. quick easy money
3. male deer

horse

Options :

1.1

2.2

3.3

Pt



4.4

Question Number : 101 Question Id : 50521224435 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The bucks move over a

a) rocky area
b) hard ground
c¢) circular path

only (a)

only (b)

both (b) and (c)
both (a) and (b)
Options :

1.1

2.2

3.3

4.4

L e

b

Question Number : 102 Question Id : 50521224436 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Why did the bucks ‘clatter’ and ‘swerve’ to ‘left” and

‘right™?

They were playing with each other.
They were trying to save themselves.
They were chasing the firecat.

The path was so designed.

W

s

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 50521224437 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is an antonym of “circular’?

Round
Straight
Curved
. Tubular
Options :

1.1

2.2

3.3

4.4

W

e

Question Number : 104 Question Id : 50521224438 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



In (line 3) the expression ‘the firecat bristled in the way’
does not mean that he

obstructed the path.

moved playfully.

stood upright in anger.

4. dissuaded the bucks from their path.

it b

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 50521224439 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The Firecat ‘closed his bright eves and slept” as he:

was tired.

had satisfied his hunger.
realised the chase to be useless.
was hurt while leaping.

il e

o

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 5052121418
Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 50521224440 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Choose the correct statement from the following

First language is acquired through training

First language is acquired in school

First language acquisition is a natural process

First language is acquired through conscious effort of the child

W =

b

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 50521224440 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Choose the correct statement from the following

1. First language is acquired through training

2. First language is acquired in school

3. First language acquisition is a natural process

First language is acquired through conscious effort of the child

Pl

Options :
1.1



2.2
3.3
4.4

Question Number : 107 Question Id : 50521224441 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following term is related to Virgotsky’s Socio-cultural theory?

Process writing
Child as a blank slate
Zone of Proximal Development

W

4. Assimilation and Accommodation
Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 50521224441 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following term is related to Virgotsky’s Socio-cultural theory?

Process writing

Child as a blank slate

Zone of Proximal Development

. Assimilation and Accommodation
Options :

1.1

2.2

3.3

4.4

W

e

Question Number : 108 Question Id : 50521224442 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

is the smallest meaningful unit of sound in a language.

l. Syntax
2. Semantics
3. Morpheme
4. Phoneme
Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 50521224442 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

is the smallest meaningful unit of sound in a language.

l. Syntax

2. Semantics
3. Morpheme
4. Phoneme



Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 50521224443 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Rohit is seven months old infant, he has started making sounds that combine consonants and vowels. He is
communicating using which of the following?

cooing
phonemes
linguistic speech
babbling

Options :

1.1

2.2

3.3

4.4

w1

e

Question Number : 109 Question Id : 50521224443 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Rohit is seven months old infant, he has started making sounds that combine consonants and vowels. He is
communicating using which of the following?

cooing
phonemes
linguistic speech
babbling

Options :

1.1

2.2

3.3

4.4

w1

e

Question Number : 110 Question Id : 50521224444 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The idea that language determines the way we think about and perceive the world relates to

1. the Sapir-Whorf hypothesis
2. linguistic relativity
3. language socialization
4. language acquisition
Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 50521224444 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The idea that language determines the way we think about and perceive the world relates to

the Sapir-Whotf hypothesis
linguistic relativity
language socialization
language acquisition

W =

s

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 50521224445 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Educational process in which learners start their schooling in their mother tongue and then move on to additional
languages in school is termed as

Basic Education
Humanist Education
Multilingual Education
Bilingual Education

W

&

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 50521224445 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Educational process in which learners start their schooling in their mother tongue and then move on to additional
languages in school is termed as

Basic Education
Humanist Education
Multilingual Education
Bilingual Education

W

b

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 50521224446 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Skinner is of the opinion that children often in the language acquisition process.

ignore adults
misbehaves
copy adults
fail badly
Options :

1.1

2.2

3.3

W =

s



4.4

Question Number : 112 Question Id : 50521224446 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Skinner is of the opinion that children often in the language acquisition process.

ignore adults
misbehaves
copy adults
fail badly
Options :

1.1

2.2

3.3

4.4

s pd

b

Question Number : 113 Question Id : 50521224447 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

It is suggested by Piaget that, children learn language through

writing and speaking
assimilation and accommodation
trial and error

shaping

pd B

b

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 50521224447 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

It is suggested by Piaget that. children learn language through

writing and speaking
assimilation and accommodation
trial and error

shaping

W

o

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 50521224448 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The pattern of sentences that children need to learn to master the fundamental skills of language learning is called

Simulation
Assimilation
Structure
Group Learning

ol e



Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 50521224448 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The pattern of sentences that children need to learn to master the fundamental skills of language learning is called

1. Simulation
2. Assimilation
3. Structure
4. Group Learning
Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 50521224449 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The mode of using the learner’s native language to teach some academic content while providing additional 1.2
instruction is called

1. basic education
2. multilingual education
3. bilingual education
4. accuracy
Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 50521224449 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The mode of using the learner’s native language to teach some academic content while providing additional 1.2
instruction is called

1. basic education
2. multilingual education
3. bilingual education
4. accuracy
Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 50521224450 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Bilingual education is an educational practice where in the teaching-learning process.

a single language is used

more than three languages are used
two languages are used

no language is used

L d =

B

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 50521224450 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Bilingual education is an educational practice where in the teaching-learning process.

a single language is used

more than three languages are used
two languages are used

no language is used

L d =

s

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 50521224451 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Skinner puts forward the theory that, children best acquire the language through

acting skills

imitating, prompting and shaping
reading and writing

enhanced speaking

s pd =

b

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 50521224451 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Skinner puts forward the theory that, children best acquire the language through

acting skills

imitating, prompting and shaping
reading and writing

enhanced speaking

W

b

Options :
1.1
2.2
3.3
4.4



Question Number : 118 Question Id : 50521224452 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

One important difference between animal and human communication is that

animals can communicate emotions

humans can communicate emotions

animals communicate to ensure their own welfare
. humans communicate to ensure their own welfare
Options :

1.1

2.2

3.3

4.4

W

B

Question Number : 118 Question Id : 50521224452 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

One important difference between animal and human communication is that

animals can communicate emotions

humans can communicate emotions

animals communicate to ensure their own welfare
. humans communicate to ensure their own welfare
Options :

1.1

2.2

3.3

4.4

W

B

Question Number : 119 Question Id : 50521224453 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘Which of the following yvou would not consider as an authentic task for langnage learning?

Using a hotel menu for a speaking task.

Asking learners to write an essay on ‘Goat’.

Asking learners to describe the room in which they are in now.

Asking learners to listen to a film song they like and write the meaning of the same.

W

o

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 50521224453 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following vou would not consider as an authentic task for language learning?

Using a hotel menu for a speaking task.

Asking learners to write an essay on ‘Goat’.

Asking learners to describe the room in which they are in now.

Asking learners to listen to a film song they like and write the meaning of the same.

W

o

Options :
1.1
2.2
3.3
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Question Number : 120 Question Id : 50521224454 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Bilingual mode of teaching-learning makes use of the learner’s native language and simultaneously

provides instruction in .1

provides additional instruction in L2
teaches sign language

4. learns universal grammar

b b b

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 50521224454 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Bilingual mode of teaching-learning makes use of the learner’s native language and simultaneously

1. provides instruction in L1

2. provides additional instruction in .2

3. teaches sign language

4. learns universal grammar
Options :
1.1
2.2
3.3
4.4
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Question Number : 121 Question Id : 50521224456 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 122 Question Id : 50521224457 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 123 Question Id : 50521224458 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
GSTST WIS ST T3 21 feqtaat =T e TrereT 7 SR E 20
1. TG S FET
2. TETET FHW TEANRT
3. TSI, W
4. TG, ST

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 50521224459 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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2. ST WTST S ST E
3. STONT ST TE o AT 2
4. TS ST A

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 50521224460 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
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4.4

Question Number : 126 Question Id : 50521224461 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 50521224462 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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3. TifeET
4. g

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 50521224463 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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3. ffm

4, 3N
Options :
1.1
2.2
3.3
4.4
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Question Id : 50521224455 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
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Question Numbers : (121 to 128)
Question Label : Comprehension
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Sub questions

Question Number : 121 Question Id : 50521224456 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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. FETER
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Options :
1.1
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4.4
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Question Number : 122 Question Id : 50521224457 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TTRITT 3 AT {31 35 5 et T
2
|. =t
. A

3. y&%
4. Tt

Options :
1.1
2.2
3.3
4.4
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Question Number : 123 Question Id : 50521224458 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
GSTST WIS ST T3 21 feqtaat =T e TrereT 7 SR E 20
1. TG S FET
2. TETET #T TEATRT
3. TSI, W
4. TG, ST

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 50521224459 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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4. TS ST A

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 50521224460 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 126 Question Id : 50521224461 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 50521224462 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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3. et
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Options :
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Question Number : 128 Question Id : 50521224463 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
T 7 T TR H Wi ST 3 T W H-
T ITe8 AT
1. T
. Tt
3. ffm

4, IS
Options :
1.1
2.2
3.3
4.4
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Question Number : 129 Question Id : 50521224465 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
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4.4

Question Number : 130 Question Id : 50521224466 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 131 Question Id : 50521224467 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 132 Question Id : 50521224468 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 133 Question Id : 50521224469 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 134 Question Id : 50521224470 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 50521224471 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Id : 50521224464 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (129 to 135)
Question Label : Comprehension
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Question Number : 129 Question Id : 50521224465 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 130 Question Id : 50521224466 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 131 Question Id : 50521224467 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Correct Marks : 1 Wrong Marks : 0
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Question Number : 133 Question Id : 50521224469 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Shuffling Allowed : Yes
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Correct Marks : 1 Wrong Marks : 0
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Correct Marks : 1 Wrong Marks : 0
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Question Number : 137 Question Id : 50521224473 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Correct Marks : 1 Wrong Marks : 0
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. = FE W & A S e A A
2. T ST BT % STER Hi
3. F= TTsra TiaTaterat 3t 279 oF=0 - BhaTees TiaTatamT & Teaq & 211 dr@d 2
4. T AUV T § e =L A W W
Options :
1.1
2.2

3.3
4.4

Question Number : 141 Question Id : 50521224477 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

= Toreft +ft w5 S oft T 2, 2 ST wes wat B T w5 wew 2l 7 e g w e 22
1. == FE1 HREd 2 A o T A A 7
2. T ST FET o STER HiEw
3. === Afeera ifafatent i emuer o= rareres nfatafimt & gy 7 o1fier dies 2
4. T SO TN B e = A 9 Wi
Options :
1.1
2.2

3.3
4.4

Question Number : 142 Question Id : 50521224478 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T H AT o S AT Ta(a S T FIEiET 1 SETe e S
1. SRISTET 2ATUTHA JUTTS

. TERTATET SUTTH
3. HI=ATHF SUFTH
4. FUYUTHS SUTTH

Options :

1.1

2.2

3.3
4.4

(]

Question Number : 142 Question Id : 50521224478 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T § YT F ST A S ST ST S i SEETe o S g
1. RISTer ST SUTTH

. TEATETET SO

3. HI=HTHF UM

e
4. HUGUITcHh 3A1TH

Options :

1.1

]



2.2
3.3
4.4

Question Number : 143 Question Id : 50521224479 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AT 3 ITFAV ! FAETAT F1 T AN T 3 ATHE STF T I AR A1 I6 AL F W T T
ToraT S0 &7k SER e G T T, 39 ST T S

. T

a7

3. AT

4, T

Options :
1.1
2.2
3.3
4.4

[a—

]

Question Number : 143 Question Id : 50521224479 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AT o STFA] 1 TEEGAT 1 T A A 39 SATHAT ST [ 61 ARl A1 36T THE F A1 T T
Tora S0 =ik SER T G T T, 39 S T S
. faaea
a7
3. ST
4, wdemar

Options :
1.1
2.2
3.3
4.4

(]

Question Number : 144 Question Id : 50521224480 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

IU=TTEAER 379 347 27

. | foreor 3% ame foar e 2

. AT H 2 o5 o % 61E e et 2
3. Tt T 3 e e s 2

4, TS Taw = 91E fear s 2

Options :
1.1
2.2
3.3
4.4

—_—

| ]

Question Number : 144 Question Id : 50521224480 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



SUSTRTE 3749 347 27

. &m fareror 3w fao ST 2

. T e o5 o % 912 e et 2
3. wfeat T 3 are e s 2

4. TremTes WA e fear S 2

Options :
1.1
2.2
3.3
4.4

—

]

Question Number : 145 Question Id : 50521224481 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

STEATIUHT = el il UT=-UTe % &8 § a7 37 foret vk fravd fit sferfertoat 3t ofit s for 38 v fewft fora
T 3T Wi W 7| T R WA w5 6 T w82

. TS S TR SO HI9 (BICS)

. T B § I== TR HTT QU (CALP)

3. faust zemT

4. e Ui

Options :
1.1
2.2
3.3
4.4

[a—

]

Question Number : 145 Question Id : 50521224481 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

STATUHT = el Tl UTa-T= o &8 § aier S ot sk frurd i afeferiuat <t ot w1 fo6 35 uge fwft ford
T 3T WIS W 7| F7 R WA w5 6 o w82

1. FFETET AT Safws SN Hee (BICS)

2. WHTEF 9§ = T ST Yo (CALP)

3. faget zemm

4. g ==

Options :
1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 50521224482 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



At former foqw <1t % &= vd wiagre &2
A- Tarefeda & fom
B- 3TeITUeRT % fom
1. T A
-
3. AFRBEA
4, FFeF1 HE % &7 T
Options :
1.1
2.2

3.3
4.4

(]

Question Number : 146 Question Id : 50521224482 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

et forer fom, 277 % &7 vd Wiy 82
A- Torafefan & fom
B- 3739 3 o0
. FEITA
. HITB
3. A SRBEAT
4. Frea | F & T
Options :
1.1
2.2

3.3
4.4

(]

Question Number : 147 Question Id : 50521224483 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T Tfaratat, f=8 =em1-SoeT TE-a4E i SIRIE 3R ST I 2, 33T Feer’ 29
|. Hifiges e

. ST Attt

3. U AT

4. TR T T FA (FEE)

Options :
1.1
2.2
3.3
4.4

| ]

Question Number : 147 Question Id : 50521224483 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



I Taraeat, 8 Se-SeeT TE-aTE i IRITER BT AT e 2, 34T et 2
1. Hifges Fuwor

BaiticRicicibe

3. o TaraTeEt

4. TS I THE FAT (TFEF)

Options :
1.1
2.2
3.3
4.4

]

Question Number : 148 Question Id : 50521224484 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T =T T Uk Treareft ve Ua Wt ug ST 2 ST U AT F o7 3 e T 2, TF F6 I 91 3 9e5E o
T B AT 3 SR SH A IF e H ] 2

. ERTE @I 2

. =T T 2

3. T R

4. vfsreror 3 T 2

Options :
1.1
2.2
3.3
4.4

[a—

(o]

Question Number : 148 Question Id : 50521224484 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T =W o U STl Us Uae St ug Sl 8 S SHT AT i o # ol 2, T8 9 0] 51 6 g6 §
Tt B STRTIEERT 3 STTET SEehT H1 36 T4 5 T o T 2

. MERIE 2

. I R 2

3. TR E T R

4. HfTequr 3 R

Options :
1.1
2.2
3.3
4.4

[am—y

| ]

Question Number : 149 Question Id : 50521224485 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TorT U S ST WTOT SAT S TR St S HeheAT 27
1. frafes =0 5 g 3o

. T HTITRA AT | e e

. STe% HUST T TIE Fh

. ST % O #Ee TE

]

o



Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 50521224485 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

el v w= it 9T ST S a2
. Tt = 9 gaeE o
. T TR MATaeat § e o
3. T2 WU F FIET FH
4. SATHFT T T FawT TG
Options :
1.1
2.2

3.3
4.4

—_—

| ]

Question Number : 150 Question Id : 50521224486 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

|.
2. FHIRg Ty
3. Hifges |

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 50521224486 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

|. ¥

2. RGeS Fu§

3, Hifgs gueu

4. T T How

Options :
1.1
2.2
3.3
4.4



